EFINCRT—TIV
NC ROTARY Tilting NC Rotary Table
HTWIHMBERIA ML — 24T T,

el TT182-TW182

BEBIREDAZ 4 —F SEAMIxI I ER 217
High stability tilting table to suit 5 axis machining

@I T/ \ - FAT—AZNE T
IIARBLNIVDET TV T MVY
Built in air hydraulic boosters deliver high clamping torque
on both axes
@1>/\7 hE&%5T Compact design
@=5E[2lEx High speed
@S HIME High rigidity
@) ARKUO—L)I 31V RENE (F723) T
VTV TR RERE
Built in rotary joint (option) allows simple and secure jig
piping
ZEHEY TV TARRISHEY 5> Tz #IRETRE
Air booster or direct hydraulic clamping options available
* CEXtiG & CE correspondence

SOBEATHIEO AR T, BHERERROFIREBEIDCED ©) I TT182
FZHEIBEMEBVETOC BACEEEINSISEIE BBFEEEDHIDLETT,

%In specification with the foreign trade control ordinance, permission of the ministry of economy,
trade and industry is required when exporting twin axis products overseas.

A—-%UYaM1 Y b2l (F 72 3Y) ERSH
Complete built-in rotary joint (option) Sample Application

@ EESEMIICE
WS CEXT
Provided for high accuracy
5-axis machining.

OKITAGAWATEHL 5 TES

FrvEEhETARE

N T—FR—=IVTAT%
BhETTHEH TN

Only Kitagawa can offer this
combination of NC Rotary Table
and chuck

oIS

simplified
Pipv‘ew' vork

t

OO—32) I3V RN #T¥3») T
VUTIVTHERGREREEERR
Installation of optional rotary joint




(ditagawa

1T 182

fhngk{E4E 4th axis specifications

B % R %3k

M{SE{t# M signal specification

1T 182

BV R %%

T—=7IWH1 X
Table Size
182

HiE

Type

TTE#RAT

STD type

TWIIZER N — 2T
Tilting straight type

T ] vroms F—IIWHPAX FHIVES
T—41EH Design No. Table Size Design No.
Motor type 182 7472 a>41#k Option spec.
# 72 a/41#% Option spec. R:O—%!) 34>} Rotary joint
R :O—41)Y34 >} Rotary joint C :/\E8Y) >4 Outer cylinder
C:5M8B> 1) >4 Outer cylinder  tii& —:4 7 a>#&L Non-option
—: 473> 4L Non-option Type Quinteft#k Quinte specification
'77/7975_?’ Clamping method TT: #2147 77/775'\’. Clamping method

Z=E (RET7/\ FO7—24%)
A|r Hydraulic (integrated air hydraulic booster)
: SHFE Hydraulic

STD type

TW ERZARL—F 21T A|r Hydraulic (integrated air hydraulic booster)

Tilting straight type

ZeE (R 7\ FO7—2%)
H : JE[E Hydraulic

B {L#% Specifications
Illiillllll@EﬂMMIlllllllllllllllllﬁﬂ@ﬂﬂ!llllll

ERBE Tilting angle —35°~+110°
F—7IVE?E Table dia (mm) »180
T—7IVEH#E7VZ Register diameter on Face Plate (mm) ¢ 65H7
7—7)VE@y\Z Spindle through hole diameter (mm) 040
BBt 42/ \1 |k Centre height at verticality (mm) 180
95> 7 AT Clamping method Ze3hE /SR Air-Hydraulic/Hydraulic
557 bb (Nm) (I 0.5MPa/HE3 SWPats) | EV¥EEA Rotating axis 450
Clamping torque(Nm){in preumatic 0.SMPa/hydraulc 35MPe) | st gy Tilting axis 300
E—RERE A+ — 4 (kg:m2) | EEH Rotating axis 0.000242
Motor axis reduced inertia(kg.m2) | qzgdam Tilting axis 0.000135
H—RE—42 (FANUC 1£5 D5 A) Servomotor (for FANUC specification) aiF 2/5000
[E1#x%H Rotating axis 1/90
IR LE Gear ratio
’ {E#48H Tilting axis 1/180
FANUC {+#% g8 (min!/£—23000min-"%5) Rotating aris(formin-! motor 3000min-1) 333
sameng | o PANUCspecification | g1 (min/E~43000min") Tiingaisforminmotor 3000min-) 16.6
Max. spindle speed | \yo=co ¢4 1o gz (min"£~73000min) Rotating aisfor mimtor 3000mi| 33.3
for M signal specification | gé3g (min'/&~ #3000min"8) Tiingaxisformin-Vmotor 300min-) 16.6
HFBT—U4F—2+ (kg:m2) Allowable work inertia(kg-m2) 0.25
[El#5EH Rotating axis 20
ZIH#ERE Indexing accuracy (sec)
i § / fE#48H Tilting axis 60
B IHFEE Repeatability (sec) 4
BB & Mass of product TT/TW (kg) 163/178
S .. RJ40FTT182
AEO—2)TaA >k FTva>-PisBE) N s .
=3 = , SME/ZEEAR— M+ ZEEZRTR—
Buit-in rotary joint (Option-P115 reference) Hydraulic/Pneumatic 4-port + Exclusive Pneumatic 1-port of air
ZENERD ) VR (FTv 3> P63, 64888) Pneumatic outer cylinder(Option-P63, 64 reference) NY1312T18B
SHESMERS 1 4 (7> - P63, 64588) Hydraulic outer cylinder(Option.P63, 64 reference) NY0912T18A
KFEF (kg) 60
?F”gﬁﬁﬁg%d at horizontal
Allowable Loa
1ERIEF (kg) (ﬁ 40
at tilted
F (kN) @ 5
SRHE
(T—=IWI 5> TH) FXL (N-m) 800
Allowable load
(When clamped to table) XL (Nm)
b (e = 450
SRV Y T(N-m) S 250
Allowable cutting torque
{ERIFTIRE — %> b WXL (kgf - m) . 5
Moment of tilting weight capacity L '

) LENRESR ALY FIENCT —7 1L ODTC- DM -
EV 5> TR
,"ﬁ-’;*il\/l%%fﬁiﬂ?f@?é%'ﬁi

IV L/ A RINIVTERBL TV E R A 0T BERRICTTERBTELY,

LRERRC 2 —XICHBLTVET,

QIBHEY SV TERDBZEE T IV TRY /A RNV IERELCVES, 3.
ANCT =T ILE THFER S DRID T —T VRO F—RAMIBLTE Y A, SHRES!

i
S

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. In case of air + hyd. clamp specification, the solenoid valve for table clamp
is incorporated. 3. In a hyd. clamp spec., the solenoid valve is not incorporated. Consequently, customer shall prepare it. 4. Neither cable nor hose is fitted between NC rotary
table and machine tool... 5. Each product mass is determined by a Kitagawa M signal spec.




TT182-TW182

W~F;%R [{3hn#h{t4%] Dimensions [4th axis specifications]

TT182 Rel/a
5V T RBEEO 65H7
Clamping air supply port 150 11 ¢ =
CREARRES) ! $52 \ 1 ‘20 5
(at spec. of oil pressure) ‘ F—ILLE 1 =
T - ITable surface 142 0 7NARIV B Hex bolt
0 p > 8 M16X65
Y @ 3-M6
3 $40 @ JFL—?
o g 6-M6 = ‘
8 o Sl 1148 24
¢ 40H8 g;T
2 8 || $50 T |285
T IVEER ISV TEE
Thru-Hole Diameter Clamping Device
117
F7vav 1101120 Rel/4 &5 7Rz ERIE0
aO—21)J3q/4 >k Clamping air supply port
Option #1580 (I7 7—R A HHEE)
N Rotary Joint ;‘L (at spec. ofalr booster) 12,

7 0 ,‘ - = 950 |
(= R ==l i - o] z
- @ ’ i Ul 3 i - > >

Yy 0 q| Q M 6~2 [© N i Q :

2] «© )
2 MR 4 y ] y M
b Wl <1 ] <7
24 &l JJzen7 115[115 e —
196 131 230 285 Table T-slot Groove
13 237 327 128 400
577 528
TW182
NERIVE
#65H7 Hex bolt -
Ram _ . 3M6 $52 M16X65 ED-
052 T RBEREO - S—J)LLE 20.5
Clamping air supply port - : /Table surface surface
CHERRE) - > | \
(at spec. of oil pressure) 3-M10 @ ‘ 440
, - 15" & 3 ‘ @ %”—?{
© 2 Sy ||| oMe s
N c & =i - ‘
1 ‘ i ¢ 40H8 $
9V} [Te}
- 50 28.5
2L A 0 e
T IVEEN ISV 78E
117 Thru-Hole Diameter Clamping Device
*7vav Rl/4 75 TREEMEO 110120
O—4%1JYa4 >k Clampingair supply port 180
Option (T77-RAHHH) ¢
Rotary Joint (at spec. of air booster) || |2 |
& a’g'e
L S %I — B}
N~ Cl
1] ) 1wl fi — o ‘ —
CsRE g N 8 dke
: - E-- , 21
115]115 <t
230 | 246 F— 7T
128 361 Table T-slot Groove
489




]
FE— SDIHRIC LA ED BEIRE A B E T, Lblt ajawa

*The dimensions may vary from motor to motor that is mounted.

B~F%E [E)IIEAa FO—73 (Quinte) {1#%] Dimensions [Kitagawa’s control device Quinte specification)

Rc1/4
TT182 552 T RAEAHAT] —=
Clamping air supply port 150 57 65H F—7)LE =

CRFEALARES) 3-M6 l
(at spec. of oil pressure) 5 Table surface45 20.5
o L ~ ‘ ) 7SARIV I Hex bolt
N e 2 M16X65
- s [ [s40 @
S o 1 6-M6
&
i H L = #

160

[Te}
[ee} /
© N f |
] o 40H8 B
R 450 28.5
T IVEENR 5788
Thru-Hole Diameter Clamping Device
F7vazy N Rc1/4 5> 7TRZEEMHENO
a—2)JyaqA vk Clamping air supply port 12
~ Option (T7 T—R2AHEES) B
(\l Rotary Joint (at spec. of air booster) p ‘ -
i b
7 —— P
= 2 | 1 =
8 % ol 10 <! 3 21
R @ i o N X
N o)
o - I I
- ° | e | —JITE
<l 1151 115 <{  Table T-slot Groove
24 237 230 285
261 13 237 327 128 400
577 528
TW182
Rc1/4
57 RREAHAO #65H7 7)1 N
Clamping air supply port 3-M6 |¢$52,| Tablesurface ‘
CREARRES) P 17
(at spec. of oil pressure) @ 5 = /\E/T)H* Hex bolt
- 150 )

E=

,T_Fﬂ

213

§‘r ,_8%# 6-M6 @ #L

o 50
y 3-M10 ? ﬂ

1105 230

Rc1/4 o _ .
F7vav U5 TREEMEO %— 12 T IVEENR ISV T8RE
H—#%UYa1>F  Clampingair supply port 0]120 Thru-Hole Diameter Clamping Device
Option (T77-RBHHEE) (180
Rotary Joint at spec. of air booster) ™
<
N = i 12
i S :)q i 0 f, — é
~
mn (w0 7@7*}: K “Tw I iT»
B a o E e | 8 i ‘ ;
® 8 o= S
° " | 21
1 by “’ﬂ 8h7 1
196 131 1151115 F—T TR
43 198 237 327 230 172 Table T-slot Groove
805 128 287
415

D AT ESINCAT—DIV - 7— VTR P HEALE
Tilting NC table - Work loadable area

TT182/TW182

350

200

0
60

—35" ~Q° 0° (KF)~ +90° (EI_) +90°~ +110°
0° (horizontal) ~ 90° (Vertical)




TT182-TW182

W~F%R [{3hn#h{t4%] Dimensions [4th axis specifications)

TT182 (Z=ENER) 5 (148] [Pneumatic outer cylinder spec.]

EsthrhD 2oz tm I
150 181 Tilting axis centre ¢40.5 Table surface 171 | 205

ARV

NIV
SONBEL IR e s
e = a o

215
131

MIN.84
MAX.96

185
oy
230
00

S

o

8

11
=
s [
N

=

H’ o ° ) n ,‘ N [ T
Il 0% Y6 B B I 1 &)
N ° —‘ L 3 i — - J@
8 P = C N []285

o]
- e o= 7 T =1
© \ $157 N
N 3-M10 M16X2 $192
Rc1/4 117 _.
AR 110 120 BTEA—A 75V T8RE
(FAEB= ) V2 ) Cross section A-A Clamping Device
Supply port (for outer cyl.) $[180
8 < 12
o T TUSL A L
5 { [ — 00|
g ~ ] 1 g =1l _ _ 1 @ )] p
o o s L1 :
® S » e ®
[N=$ =
EREEL S + T, 21,
& o A it 3t 71T
18h7 115|115 Table T-slot Groove
24 237 196 131 230 285
261 327 128 400
588 528

WZEENERY) 411 Pneumatic outer cylinder spec.

Suva e b  YUVERE  EXRVRRO-Y . ER b #7 Piston thrust (kN) HRBRARES o8
Cylinder Number of ports INNer dia.of cyl.  Piston stroke ZE[EF] Air pressure 0.5MPa ZE[EF] Air pressure 1.0MPa Max. allowable air pressure Mass
(mm) mm) #f Push 3] pull 4% Push 3| Pull Pa) (ko)

ZE3R—F
NY1312T18B Air: 3-port

TT182 CEENEBY) 4 11#%] [Hydraulic outer cylinder spec.]

65H7 _ .
1ERYERRID ¢ 405 e VL AERIVE
150 | 131 Tilting axis centre $40.5 Table surface Hex bolt I
L © 17
N 38
0 z
£ % [~ 3 g
[sV)
1| /?7
g § ' ¥
- O |
R [ | v
0 ZA R R
- 490
M16X2 $120
Rc1/4 BTEA—A 9oV 7%RE
fHHAR— b Cross section A-A Clamping Device
GE P75 p -
Supply portgﬁ)routercyl.) ©
[N < A | 12
s vgqrr, X =5 Dooo —
©of ~ il =] [ _ ‘ =
38 - L
g RS T 8 m— & s Hu
JE 21,
8 g z y C 11 j y
v
& ot N 3 >~V
o JTéAW 3 115 | 115 N/P Table T-slot Groove
24 237 196 131 230 285
261 327 128 400
588 528

WHEN BB Y 2 411k Hydraulic outer cylinder spec.
JUVEWE  ERRvARO—y ERRZHERDPistonthrust (kN)  gmg i
innerdia.of cyl.  Pistonstroke  3#FE/] Hydraulic pressure 3.5MPa  Max.allowable hyd. pressure Mass
mm) {mm) 47 Push 3| Pull (MPa) (ko)

HELF— MR-
Nvosizmisa | 9 12 182 171 35 7.7

L EEENERTEIZFANUCIEARR TY, it E—2EARDIBE TEDRBED T EDHBY E T, 27802 ) 2 EUHERRIE > 2/ \1 bH 180D 52001 ED Y E T,
3% 1.The above dimensions are the same as FANUC spec. Those dimensions may vary from motor to motor that is mounted. 2. In outer cylinder mounting spec., centre height varies to 200 from 180.

R— &
Cylinder Number of ports




W~F;%R [{3hn#h{t4%] Dimensions [4th axis specifications)

(ditagawa

TW182
-
®
o — 8
N I\
v
o 8
Rc1/4
fHER— b
Az U5 R) #1180
Supply port (for outer cyl.) :r’.
[ I
S I ==
JHFol] P —— 0
8 FAJEe O |3
o d
8 =
] [e—
V
3 &l ol A
187
196 131
102 198 237 327
864
TW182
)
o) ] ° o
« 1<)
& «
o 3
Rc1/4
fHQR—F~
A& 5 R)
Supply port (for outer cyl.)
[
R |
N~ — .
0 0
o o
™| o ™
S
NEES
<
N

1

198

131

(Z=ENER) 4 (14E] [Pneumatic outer cylinder spec.]

ERE RO

Tilting axis centre

$40.5 Tablesu

$65H7 >—7)L ki

rface

17 20.5

NERIVE
Hex bolt

] j/g 3
© ©
! =z
- \2
el
N %
1= 7,
] ] %
T
[‘f] o
o T
$ 157 &
M16X2 $192
BREIA—A

Cross section A-A

CHENER) 4 11#%] [Hydraulic outer cylinder spec.]

BRI

Tilting axis centre

$40.5 Table

$65H7 = ) vm

MAX.96
s
(4]
30.5

5 §M16X65

48| |24
J@28.5

IS5V T78RE
Clamping Device

12

F—JIVTE
Table T-slot Groove

surface

0 z| X
AN \5 s
|

ﬁ R
o = 7,
] 5 e %
[fll v
71l [l
490
M16X2 $120
HIEA—A

Cross section A-A

[

24

115
230

246
361
489

¥ 1 EEEAREIRFANUCHAR TY, it E—2ERDIBE TEDRBED I ENBYET,
2B ) A EUIHERR IS 2\ bHM180H 52001 ED Y E T,

% 1.The above dimensions are the same as FANUC spec. Those dimensions may vary from motor to motor that is mounted.

2.In outer cylinder mounting spec., centre height varies to 200 from 180.

IS5 78RE
Clamping Device

T—7IVTi#
Table T-slot Groove




